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B B AL = 41 47 88 | 19.2 | 68.8
B EE X 48 48 96 | 26.4 69.6
3L k¥t EF 43 45 88 | 18.0 | 70.0
AL +8 =5 42 42 84 | 13.2 | 70.8
ORI Hath = 43 42 85 | 13.2 | 71.8
6 = BRI 44 45 89 | 16.8 | 72.2
Th1 58 B 47 52 99 | 26.4 | 72.6
8 B2 HE 41 46 87 | 14.4] 72.6
of fRE &H— A 40 81 8.4 | 72.6
10 mE & 44 47 91 18.0 | 73.0
1142 A {Esh 48 43 91 18.0 | 73.0
1245 LT A 44 52 96 | 22.8 | 73.2
1341 $iFt & 40 44 84 | 10.8 | 73.2
14461 BB E2Z 48 47 95 | 21.6 | 73.4
1501 HE T 47 48 95 | 21.6 | 73.4
164 B3 BhZ 49 45 94 | 20.4 73.6
1741] 5K 1t 44 44 88 | 14.4 | 73.6
1841 53 BH— 43 51 94 | 20.4 | 73.6
1941 & LB A1 52 93 | 19.2 | 73.8
200% B & 46 46 92 | 18.0 | 74.0
2160 IEH K= 51 53 104 | 30.0| 74.0
2261 BR HB— 50 46 96 | 21.6 | 74.4
2361 s ER 52 44 96 | 21.6 | 74.4
2461 B HA 47 48 95 | 20.4 | 74.6
i 50 45 95 | 20.4 | 74.6
260 =R B 44 45 89 | 14.4 | 74.6
2747 %M &t 55 51 106 | 31.2 | 74.8
2861 AR H 4 47 88 | 13.2 | 74.8
29061 5 15— 54 45 99 | 24.0 75.0
3046% Il & 53 52 105 | 30.0| 75.0
L TR RE 42 44 86 | 10.8 | 75.2
324 ByO  1&HH 43 48 91 15.6 | 75.4
336L B mE= 48 48 96 | 20.4 | 75.6
M N% & 44 52 96 | 20.4 | 75.6
350 Rk K 47 48 95 | 19.2 | 75.8
36hL A A 44 51 95 | 19.2 | 75.8
3L &8 R 52 48 100 | 24.0| 76.0
38 S4B & 49 45 94 | 18.0 | 76.0
3961 18 1Es 52 48 100 | 24.0| 76.0




OREW

ST DANIEREE S

AEI—X
B @B S, I BEhE RYT 12
égﬂﬁ?o‘-éég E) STHCEIRE : PAR x 2 20254 7H 58 (+)

HDCPERE (88): 36.0 HDCPEPR (%) :  36.0
BELhb o % %% % % k&

0T DBBEEIBO  INDDBBWBBD®D

BEIRGL

A4 AH
& sz A A g ouT IN | GROSS | HDCP | NET
404z JKEF  FEEA 45 42 87 10.8 | 76.2
4141 BB JEF 94 57 11 34.8 | 76.2
4261 E® E&E 43 50 93 16.8 | 76.2
43z MR #— 42 43 85 8.4 | 76.6
4461 R FR 44 46 90 13.2 | 76.8
4561 28 Rz 43 46 89 12.0 | 71.0
4661 e F— 53 60 113 | 36.0 77.0
4761 Rl FEE 46 48 94 16.8 | 71.2
4861 /INE HA— 4] 47 94 16.8 | 77.2
4961 B —E 48 51 99 21.6 | 71.4
506L #)Il B 49 49 98 20.4 | 71.6
S| M FIZ o1 47 98 20.4 | 71.6
520 1A E=E 49 48 97 19.2 | 71.8
53fr) Ll FZE 50 57 107 | 28.8 | 78.2
S4GL IR 18 46 48 94 15.6 | 78.4
550 MM % 90 49 99 20.4 | 78.6
566L /NSE IERE o1 48 99 20.4 | 78.6
5T4L AT —3 48 44 92 13.2 | 78.8
58 #F%x [HiE 51 50 101 21.6 | 79.4
501 Bt &= 94 58 112 | 32.4 | 79.6
604z BT 14 4] 47 94 14.4 | 79.6
611 KEE FHi 52 57 109 | 28.8 | 80.2
6241 #E)I g 58 55 113 | 32.4 | 80.6
631 FkiFE FWM— 46 o1 97 15.6 | 81.4
64fL IR = 41 49 90 8.4 | 81.6
651 EEF & 49 51 100 18.0 | 82.0
6641 K& B 52 54 106 | 22.8 | 83.2
671 TH EHi o8 58 116 | 32.4 | 83.6
684 #& A— 48 65 113 | 27.6 | 85.4
694 #BE Kih 65 62 127 | 36.0 | 91.0




